PRODUCT NOTES:

THESE ARE THE STANDARD GEOPANEL CONFIGURATIONS. CONTACT HOW TO READ PRODUCT "SKU" :
GEOMETRIK FOR INFORMATION REGARDING CUSTOM SIZES.

CUSTOM SIZES CAN BE UP TO 4'-0" WIDE X 8'-0" LONG.

MIDDLE SECTION REPRESENT
"PERFORATION TYPE"
(EXAMPLE = 2mm HOLES @ 5mm CENTERS)

FIRST TWO LETTERS LAST TWO NUMBERS
REPRESENT REPRESENT "CUSTOM SIZE"
"PRODUCT TYPE" or T&G PLANK

TYPICAL STEPS FOR CUTTING PANELS:
1. MEASURE NON-FULL SQUARE DIMENSIONS DESIRED. - 5 0 5 2 D P - ‘ S
2. DETERMINE PANEL SIDE EDGE TO BE CUT.

3. SELECT PROFILE TO BE CUT.

4. CUT PANEL TO DESIRED WIDTH/ LENGTH.

5. RE-PROFILE NECESSARY GROOVES AS PER PRIOR TO CUTTING. "SKU" ABBREVIATIONS:

6. REPLACE EDGE BANDING TO MATCH.

MP = MICRO PERFO S
cs= CUSTOM SIZE

7. REFINISH EDGE BANDING TO MATCH. T&G=  T&G PLANK
DP = DIAGONAL PATTERN

1449 Velocity St Description: Product: Sheet No:

Eeometnk Kelowna, BC, Canada SKU INFORMATION MICRO PERFO S

V1V 3C2 MP 1.0

www.geometrik.com  info@geometrik.com | Ph.(250) 769-1500 Fax.(250) 769-1520 Date: - JaN 2018 |DrawnBy: \P




VENEER EDGE BANDING TO
MATCH DECORATIVE FACE
VENEER TYP.

DECORATIVE FACE VENEER
WITH MICROPERFORATION

BALANCING VENEER ON
BACK SIDE OF PANEL

HATCH INDICATES FACTORY
APPLIED BLACK ACOUSTIC FABRIC TO
BACK SIDE OF PANEL TYP.

MDF CORE BOARD

y
NlSHED
SlDE
Op N
ANEL
PRODUCT: MICROPERFO S
SKU#: MP-2052DP-CS J (
A
STANDARD PANEL THICKNESS = 3/4"
*OPTIONAL THICKNESS AVAILABLE.
E 1449 Velocity St Description: Product: Sheet No:
v,eometrik mv;%az BC, Canada g\(()F;\llg% l\J/\(l)(_)I_(I)ODNPANEL MICROPERFO S MP 1 1
www.geometrik.com  info@geometrik.com | Ph.(250) 769-1500 Fax.(250) 769-1520 Date: JAN 2018 | PrawnBy: MP I




=—— 12 GA. WIRE PAINTED BLACK
(BY INSTALLER

— TORSION SPRING

ASSEMBLY (BY GEOMETRIK)

BLACK HEAVY DUTY
15/16" MAIN T-BAR
@ 2-0" (BY INSTALLER)

CROSS RUNNER
@ 4'-0" FOR LATERAL STABILITY
(BY INSTALLER)

o o o o o o o a o o o o o o
/_| [ [e] [e] [| [e] [e] [| [e] [e] [e] [e] [e] o C
| ® @ @ ® ® ®
/g o o o o o o %
/ - I
/ TREE N INEEIEE RN IL R IR TLIRIENEEE
- |~ MICROPERFO S " H{ "
N WOOD CEILING PANEL 6" MAX. + 6" MAX. f
1" REVEAL 3/8" - 1" REVEAL
5/8" MAX. WOOD SCREWS REQ'D. MIN.
(BY INSTALLER) (SPEC'D BY ARCH.)
1449 Velocity St Description: Product: Sheet No:

@eometnk

Kelowna, BC, Canada
V1V 3C2

www.geometrik.com  info@geometrik.com

Ph.(250) 769-1500 Fax.(250) 769-1520

TORSION SPRING
SUSPENSION SYSTEM

MICRO PERFO S

Date: JAN 2018 Drawn By: MP

MP2.0




=—— 12 GA. WIRE PAINTED BLACK

(BY INSTALLER

Z-HANGER TYP.
IV (BY GEOMETRIK)

B

|' SUSPENSION GRID

! [ l | | i i i i
/< <
/2
/ lll’...lllHHHLHHHHH’II’H: R I R
/ ; 1" REVEAL WOOD CEILING PANEL 6" MAX L
5/8" MAX. WOOD SCREWS 3/8|?|éC1'DRI§/|\|/l5AL
(BY INSTALLER) (SPEC'D BY ARCH.)
E t K 1449 Velocity St Description: Product: Sheet No:
v,eometri Kelowna, BC, Canada Z-HANGER MICRO PERFO S
V1V 3C2 SUSPENSION MP 2 1

www.geometrik.com  info@geometrik.com

Ph.(250) 769-1500 Fax.(250) 769-1520

Date: Drawn By:

JAN 2018

MP




[=—— 12 GA. WIRE PAINTED BLACK
(BY INSTALLER

Z-HANGER TYP.
(BY GEOMETRIK)

||

6" MAX

¢ <

5/8" MAX. WOOD SCREWS
(BY INSTALLER)

K|
3/8" - 1" REVEAL
REQD. MIN.
(SPEC'D BY ARCH.)

SUSPENSION GRID

|~ MICROPERFO S
WOOD CEILING HANEL

E t K 1449 Velocity St Description: Product: Sheet No:
Kelowna, BC, Canada Z-HANGER MICRO PERFO S

~COMetri V1V 3C2 SUSPENSION SYSTEM MP 22

www.geometrik.com  info@geometrik.com | Ph.(250) 769-1500 Fax.(250) 769-1520 Date: JAN 2018 Drawn By: MP




12 GA. WIRE PAINTED BLACK
(BY INSTALLER

T

INDEPENDENT SUSPENSION WIRE FOR
LIGHT FIXTURE (BY OTHERS)

BLACK HEAVY DUTY
15/16" MAIN T-BAR
@ 2-0" (BY INSTALLER)

j

P
O]

==
O
O]

LIGHT FIXTURE,
INDEPENDENTLY SUSPENDED

|~ MICROPERFO S
WOOD CEILING PANEL

www.geometrik.com  info@geometrik.com

Ph.(250) 769-1500 Fax.(250) 769-1520

Date:

JAN 2018

Drawn By:

MP

(BY OTHERS)
E t K 1449 Velocity St Description: Product: Sheet No:
Kelowna, BC, Canada POT LIGHT MICRO PERFO S
~COMetri V1V 3C2 INSTALLATION

MP 3.0




INDEPENDENT SUSPENSION WIRE FOR
LIGHT FIXTURE (BY OTHERS)

CROSS RUNNER
@4'-0" ON CENTER

(BY INSTALLER) BRACKETING FOR
LATERAL STABILITY
BL%?EHS:YJ_E;;; ONLY (BY INSTALLER)
@2'-0" ON CENTER
(BY INSTALLER) SCHEDULED

LIGHT FIXTURE
(BY OTHERS)

BOTTOM OF LIGHT FIXTURE TO BE INDEPENDENT
OF PANEL. LIGHT FIXTURE COVER PLATE TO
CONCEAL CUT OPENING IN PANEL.

FIELD CUT OPENING IN PANEL FOR
LIGHT FIXTURE (BY INSTALLER)

TORSION SPRING CLIP ASSEMBLY
REQ'D FOR PANEL TO BE DEMOUNTABLE.

L MICROPERFO S

WOOD CEILING PANEL

IMPORTANT:

CUT PANELS MAY HANG
UNSUPPORTED A MAXIMUM OF 6"
FROM NEAREST T BAR CLIP.

t K 1449 Velocity St Description: Product: Sheet No:
Kelowna, BC, Canada POTLIGHT MICRO PERFO S

~COMetri V1V 3C2 CEILING INSTALL MP 3 1

www.geometrik.com  info@geometrik.com | Ph.(250) 769-1500 Fax.(250) 769-1520 Date: JAN 2018 Drawn By: MP




WOOD FURRING PAINTED BLACK
(BY INSTALLER) @ 24" ON CENTER.

THICKNESS DETERMINED BY DESIRED NRC RATING

\ WALL

GEOMETRIK WOOD WALL PANEL 4|

Z-CLIPS ATTACHED TO BACK OF PANEL
AND WOOD FURRING (BY INSTALLER)

BLACK FOAM SPACER AS PER REVEAL,

SIZE REQ'D AS PER ARCH. SPEC. (BY INSTALLER)

3/8" - 1" REVEAL REQ'D MIN.
(AS SPEC'D BY ARCH)

E t K 1449 Velocity St Description: Product: Sheet No:
Kelowna, BC, Canada WALL Z-CLIP MICRO PERFO S

~COometr V1V 3C2 ATTACHMENT MP 4 0

www.geometrik.com  info@geometrik.com | Ph.(250) 769-1500 Fax.(250) 769-1520 Date: JAN 2018 Drawn By: MP




|

WALL

SCHEDULE CEILING
'V (BY OTHERS)

7 p—g
1" [25.4mm] SPACE REQUIRED BETWEEN

CEILING & PANEL FOR INSTALLATION. PANEL
DROPS 1" AFTER ENGAGING WITH WALL CLIP

1) ])

WALL
P

3/8" MIN.
REVEAL

MICROPERFO S
WALL PANEL

BLACK NEOPRENE STRIPPING
BETWEEN PANELS AS PER ARCH.
SPEC (BY INSTALLER).

5/8" SCREW
BY INSTALLER

a1l) ])

|

Z-CLIP
BY GEOMETRIK

L 1/2" x 2" WOOD FURRING STRIP TYP. (BY INSTALLER)
THICKNESS DETERMINED BY DESIRED NRC RATING.

@eometrlk

www.geometrik.com  info@geometrik.com

1449 Velocity St
Kelowna, BC, Canada
V1V 3C2

Ph.(250) 769-1500 Fax.(250) 769-1520

Description:

Z-CLIP
ATTACHMENT DETAIL

Product:

MICRO PERFO S

Date:

JAN 2018 Drawn By:

MP

Sheet No:

MP 4.




	Sheets and Views
	MicroPerfo S New Binder-MP 1.0 SKU Info
	MicroPerfo S New Binder-MP 1.1 Const
	MicroPerfo S New Binder-MP 2.0 Tors Susp
	MicroPerfo S New Binder-MP 2.1 Z-Hanger
	MicroPerfo S New Binder-MP 2.2 Z-Hanger
	MicroPerfo S New Binder-MP 3.0 Pot Light Installation
	MicroPerfo S New Binder-MP 3.1 Pot ISO
	MicroPerfo S New Binder-MP 4.0 Wall Z Clip
	MicroPerfo S New Binder-MP 4.1 Wall Z Clip


